Bt 3B =
BE+t-A=1t—-HLFE"
—2F=F —TEF —TEF —TTTF —hANF
FRET FET FET FET THET
(E71)
ES
s 132,583 181,692 114,948 69,694 59,694
B % A /85 B taxation (184,703) (137,062) (551,403) (703,470 (282,337)
1A 10,655 — 124 1,213 673
Rt DBBCRERE 1B (174,048) (137,062) (551,279) (702,257) (281,664)
DHBCR A 3,841 37,252 157,570 119,421 55,596
AFEERFHE (170,207) (99,810 (393,709) (582,830) (226,068)
R+=A=t—-8"
—BR=F g —ET—F e —hhhf
FET THET THET FHET THET

EERAME
RAE 613,682 2,536,529 1,735,207 2,106,508 2,613,422
mafm (249,589)  (1,485,438) (980,817) (05,647) (728,179)
DBBCR S (30,929) (103,766) (119,390) (261,413) (380,834)
BRES 333,164 947,325 635,000 939,448 1,504,409

FERARSBEER LY T -

FAZHBHE  XARBRBEBSHMAGHABEZRESGIERNE T IR EFTR) (SR FAERE &

T =FFHK | 72



